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IMPROVEMENT / SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part — III
BUSINESS STUDIES
Maximum : 80 Scores Time : 2% Hours
(Hearing Impaired) Cool-off time : 15 Minutes
/ General Instructions to Candidates : \

e Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.

e Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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I.  Answer any 8 questions from 1 to 10. Each carries 1 score. @8x1=8)
1.  Find the odd one :
(a) Insurance (b) Warehousing

(c) Tourism (d) Advertising

2. In a co-operative society the principle followed is
(a) One share one vote (b)  One man one vote

(c) Novote (d) None of these

3. Conversion of a Public sector undertaking into a private sector enterprise is termed as
(a) Globalisation (b) Liberalisation

(c) Privatisation (d) Decentralisation

4. Which of the following is not covered under the principles of ‘indemnity’ ?
(a) Life Insurance (b) Fire Insurance

(c) Marine Insurance (d) General Insurance

5. Pollution control is needed for
(a) to ensure healthy life (b) to ensure safety

(c) toavoid economic loss (d) All of the above

6.  Equity share holders are called
(a) Owners of the company (b) Partners of the company

(c) Managers of the company (d) None of these

7. Investment limit in small business is
(a) T 201lakh (b) T 25Ilakh
(¢) T 101lakh (d) T Slakh
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8. is the link between wholesaler and customers.
(a) Manufacturer (b) Supplier
(c) Retailer (d) None of these

9. Goods purchased from a foreign country is

(a) Export (b) Import
(¢) Intrepot (d) None of these
10. The shares of a company can be freely transferable.
(a) private (b) public
(c)  both private and public (d) None of these
II. Answer any 4 questions from 11 to 17. Each carries 2 scores. (4x2=38)

11. Identify the following activities as per the given hints :
(a) A teacher works in a school
(b) A doctor runs a clinic

(Profession, employment, business)

12.  Make a correct pair from the following :
(i) Departmental undertaking
(ii) Public Corporation
(iii) Post and Telegraph
(iv) Life Insurance Corporation
(Hint : Govt. Company — HMT)

13. Identify the removal of hindrances from the given activities based on the hints :
(i)  Transportation
(ii)) Warehousing
(iii) Advertising
(iv) Banking

(Place, Time, Knowledge, Finance)
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14.

15.

16.

17.

I11.

18.

19.

20.

21.

22.

23.

Match the following :

(a) Plastic money (i) Akshaya Centre

(b) Outsourcing (i1) Credit card

Write any two functions of commercial banks.

Write any two documents required for the formation of a company.

Write any two services of retailers to consumers.

Answer any 4 questions from 18 to 23. Each carries 3 scores.

Explain any three limitations of Public Corporation.

Explain any three causes of air pollution.

Write a short note on :
(a) Trade credit
(b) Retained Earnings

(c) Commercial paper

Write any three services of wholesalers to manufactures.

Briefly explain :

(a) Bill of Lading
(b)  Shipping Bill
(c) Mate’s Receipt

Write any three functions of LM F.
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IV. Answer any 4 questions from 24 to 29. Each carries 4 scores. (4 x4=16)

24.

25.

26.

27.

28.

29.

30.

31.

32.

Complete the following diagram :

(IV) .............. Human Cause

Business .
(1) veevrerernne Risks (1) cereeeninns

Briefly explain the features of sole proprietorship form of business organization.

What are the four types of Banks ?

Write any four functions of a Promoter.

Write any four external source of business finance.

Name the organisation’s setup in India for promoting foreign trade.

Answer any 4 questions from 30 to 35. Each carries S scores. (4 x 5=20)

What are the different types of partners ?
Explain the features of Govt Co’s Public Corporations.

What are the different types of payment modes used in online trading ?
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33.

34.

35.

VL

36.

37.

38.

Write any five causes which damage our natural environment.

Briefly explain any 5 clauses in Memorandum of Association.

List out any 5 problems faced by small business.

Answer any 2 questions from 36 to 38. Each carries 8 scores.

Explain the objectives of ‘Business’. (any four)

Describe briefly the different types of co-operative societies. (any four)

(1)  Explain warehousing.

(2)  What are the different types of warehousing ?
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